2019 A=A E4E

(CRHE)

r
1A

of I = ol
71,058,070 | @17 ?E_T—ﬂ%mi@ T A4 26,221,847
- | @Rty 5,247,305
2181370 | @@pmgapqu | SIS A A 1 2,957,600
= H
FAI|BAERY, gt 7|8
4,002,525 | ®@FHILFAIGY] |45 9Es] 35, fueA] 3,330,864
T 5 AbgHl
FA 7R AEHR, 4192 BIEN
GHdo|dZ 10,835,331 | @A LAAGH]  |dhsl/E3), 7|BAE 9%, 2,193,710
BIEN ZF 5 AFdH|
" YoAA AL, 71 B4E 70|
OFLADN  en Dlass ehd 5 A 6,773,760
47123, 1054 71L A, &g9)/
DA AFGH] A7101413] 3¢, 3 WA n 5 5,040,840
u] A9 5 Al
HHAYES D, JAHMYESL T, A&
@A GEAAYE]  [MEYZ, AGYEY, dFUE 19,403,200
93, B E9a
Q7] EA AT ZAIH] -
ol g3 16,908,170
88,077,296 88,077,296

16




[&a1] 20194 &2

AF Al EW S

5 FA(H) e
@A 26,221,847
29 22,769,170 | AF3E 191 12704, 191 1.42874€L
i He g B 1,566,070 | 191 12714, 121 1714
HAdE fEe 1,886,607
NEEED ArdAIE mo) 3
@uta]H] 5,247,305 | AFFA HEH], CMS AL8-&/44R, S48, AFFEEH 5
@A T T2 2,957,600
NEAE WS T2 TN A - | AFAAIE wlo]g)
de etk 137,190
71874 AEAE o]y
271 AZF | RAE QY 2,820,410 | 1~25 A|2H4], 35 A|2HH] A 25 IAA 2 L I H]-§
@A A FAFAH] 2,193,710
192} BIEN 3]/ 3] 700,000 | AFRE=% FEE 2QH]
AIAZ| 24553 = PA - | A A2 mlolay
BIENT} HA m2 200,000 | BIEN ¥+ A <] (o] A 2|4} Q1] )
JEAE 9T4 891,100 | °|E wtZE ZAHA L}, ThbA] Q712 W7 R4S a4
F7h ZA 7 EAEPR 402,610
G m A 3,330,864
71245 A (Y HLF) - [ AFAAE H]olFy
2019 gl 7| ZAEEH S 355 480,000 | sfeld®AL 2| st A&
20199 g 7| EAE 17 2,340,464 | 3553 EdF
JEAE Y EY T}E - | AAIE Hol R
(F7D 2020 S 7 EAS e S5 10,400 | 479198 21277k (24, 13)
Z7h) 20199 $A IR 250 200,000 oA 3]d]
F7h fidA =4 300,000 |&stAd), 657] BEH FRE T
®FTHAH] 6,773,760
A4 A17] W3l 2,400,000 | AI2FEEH] 200,0004* 12
NBAE FZ AR - | AFAAE vlolg)
20199 &5 H24ro] Az} - | AFAAE vlolg)
712425 AR - [ AFAAE H]olFy
271 7|1 BAE Jlo|E B A7+ 4,243,760
(F7h) 71 BAE &5 A 130,000
@DZ A AL H] 5,040,840
A2 A 7)1%3] 949,550 | FHE tAIH], EF AZ/FHH]
1029 7| E3AF 2 5)ho] o 2,992,780 | o=, SHE/x 2 T8 Azu] A AHH] ZhAb) A4
31 AT} 2] L) 748,500 | Bl 3] 0] FARZE wEH] 29
2 GY E QT AFA - | AFdA S m]o)d
r/]‘xi OJ-\}—J _J_EA]_ — ]-0474]9,] D] 6
w8}k A -
F7h B L3/ 710143 150,010 | 3]oJH]
(F7h) A8zt %713 200,000 | ciEt=
@A =2 A} H)| 19,403,200
AU E YT AFH] 5,023,200 [1~12€
o1 HY| E YT AL H]| 2,196,000 |1~12€
AEYE YT AFgH] 6,664,000 |1~12¢¥
AU E ST ALY 1,244,000 [1~6%, 8~129 wHg(7¢€ W& F2)
Y EQT AFeH] 1,532,000 [1~12¢
FAE Q)3 A H| 2,144,000 |1~124
(Z7h FEUELT AFGH| 600,000 |9~12%
@712 A A= 3 H] -
)Y o] U 16,908,170
A 88,077,296

17




[R1] AQHIEQ]T R FM

LSRR EYT
T = A
old+ 4,940,878
TET 5,023,200
Pes a7 397,000
o] z}4=9] 43817
7] e} 41,900
A 10,407,795
=g 200,080
2] APEA It = 1,800,000
el 7,820
THo 41,010
s|emdl 321,530
A A RS R 317,000
e WEH] 232,600
At H] S| g 26,600
AThAFRH] 456,000
=71 ZFAAre 1,178,260
S| zho] AFRIH| 690,800
FEH| 500,500
ol ¥F REREEEE 4,635,595
A 10,407,795
7|2 AERJAYESZ
T2 3 = = H)
olga AP o] YdF 1,687,277
e ny A W EF 2,196,000
T 71EF 71et 2,036 2itol%
A 3,885,313
Tra]S o] Ap Al ke ] 120,000
s AHEEE 79 100,000
Oﬂqﬁi?ﬁ% B 350,000 | EgE3 594
T
7| B AEAZHA] 60,000 23]
Ag=at Azt 240,000 2071
FAE AZF 79,720
= TA T 65,500
A= gkl EEE 450,000 33]
BRI 98,000 23]
7] 28] @; o )& 73,000
7€} 2,000 o
A 1,638,220
olga | oldg 2,247,093
A 3,885,313

18




NEAEHRBYEYD
FE & & = FAED)
NEES Ad ojdZ 4,329,535
_ A 7]5]H
- %0 %l ;H 6,664,008
7184 71844 394,976
T 11,388,511
1| 1,100,000
el ] 9,500
gty 4,400
NEAE Ql7|me] Hx 78,500
]
AFAFA LY JEAE it 112,520
%3 349 480,000
Pk 1,620,500
= Jrepe =LAl LT 156,800
R 7 ,ﬂ‘::g_i_a] 300,000
INELE A} 90,000
%3 139,860
A AR 214,000
Al CEPY: 577,000
247 147,780
old= o4 ojd+ 6,357,651
A 11,388,511
N EAEAGYEYA
F = F (D) A
olda Adelda 1,710,001
nEF A wEF 1,244,000 *TEu g R
et ool 2} 1,306
A 2,955,307
AFELE Loy 60,000 A=
Pl o] AREEA 170
¢ =7 30,000 SR
EX SO 99,100 AFH AF
A Z A 380,300 s|9%3], 23]
AT S A 60.000
o] Rerg ’
olg= SEEREE=) 2,325,737
A 2,955,307
= o
LS FYEYD
= s = Ml
REREE: 977,227
WE 1,532,000
TEH Y 163,200
S| 1213
H 2,673,640
WEH| 291,300
e = 357,880
EEL 72,000
= I EAE S
= ZﬂZ_ gég_—l (s} 410’000
o oj U= 1,542,460
A 2,673,640

19




= 4d [e)
NEAERIEYD
7= ERl GlES
A o] g2 1,591,131
FEE= 2,144,000
3 3 PA+
2=9] nEH 2YZ 331,300 J%qlié;’?;iﬁ wh
SI&F 183
A 4,066,614
5 N 7
TEH 22 658,500 J%Lﬂg%f}‘ Bar Ay
PALEEH] 110,000
CEE 24,000
A 2] (#=47) 200,000
Az A2 EEa 30,000
=
NEAE 2R 40,000
SRy 6,000
BN 2,900
old o] Y= 2,995,214
] 4,066,614
— =4 o)
7 RASSEUEYL
3 L=3 a4 |2
olda Ad old= 0
7 e o]z} 26
A 482,026
= GH| 0
_ Ry 7J§Q/\}C§ 30,500 A EH=
2% ERE 8,000
o]_gé_]% Cﬂ']{j 0]%% 443,526
A 482,026

20




